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£ K 4900 | 3025 | 2213 950 265 949
100.0 | 61.7 | 45.2| 19.4 5.4 | 19.4
IR 400 2176 214 63 14 12
100.0 | 69.0 | 53.5| 15.8 3.5| 18.0
BRIKX 400 231 176 80 24 17
100.0 | 57.8 | 44.0| 20.0 6.0 19.3
PN IES 400 254 183 56 18 92
100.0 | 63.5| 45.8| 14.0 45| 23.0
BRE 300 145 87 43 14 109
100.0 | 48.3 | 29.0| 14.3 4.7 36.3
SHEKX 400 209 151 61 24 122
100.0 | 52.3 | 37.8] 15.3 6.0 30.5
BERX 400 262 174 15 22 62
100.0 | 65.5| 43.5| 18.8 5.5 15.5
IERR 400 254 169 64 15 80
100.0 | 63.5| 42.3| 16.0 3.8 20.0
BEMSTH . BT, fRMET. TAH 150 91 68 38 11 23
100.0 | 60.7 | 45.3 | 25.3 1.3 16.3
RE/7 W, TRk, AIRET. F4RET 100 54 45 35 8 19
100.0 | 54.0 | 45.0] 35.0 8.0 19.0
mFMH., sFAH. /RETH 200 123 98 59 25 20
100.0 | 61.5| 49.0] 29.5| 12.5] 10.0
HEHET. =Fm. WFHET, WKE] 350 205 162 113 23 46
100.0 | 58.6 | 46.3 | 32.3 6.6 | 13.1
=i, Fhm 200 130 100 41 14 29
100.0 | 65.0 | 50.0 | 20.5 1.0 14.5
Nl 400 262 192 61 18 74
100.0 | 65.5| 48.0 | 15.3 45| 18.5
HE™ 400 218 193 58 13 64
100.0 | 69.5| 48.3 | 14.5 3.3] 16.0
gwmath, 2Fh 200 134 105 49 9 217
100.0 | 67.0 | 52.5| 24.5 4.5] 13.5
AR 200 117 96 54 13 33
100.0 | 58.5 ] 48.0] 27.0 6.5 16.5
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£ K 3951 | 1273 | 1260 | 1031 283 10
100.0 | 32.2| 31.9| 26.1 1.2 2.
IR 328 88 104 95 33
100.0| 26.8| 31.7| 29.0| 10.1 2.
BRIKX 323 114 108 15 22
100.0| 35.3| 33.4| 23.2 6.8 1.
PN IES 308 100 107 10 24
100.0 | 32.5| 34.7| 22.7 1.8 2.
ARX 191 87 50 39 11
100.0| 45.5| 26.2| 20.4 5.8 2
SHEKX 218 97 95 68 14
100.0 | 34.9] 34.2| 24.5 5.0 1

BEX 338 | 130 96 81 24

TRX 320 119 99 83 15

BB, Bk, WM. AW | 121 322 4l 37 3

ST, TRBTh. ANAT. FIARAT 81 20 27 21 K

WFEM. FAM. RED 180 51 54 54 13

EOET. =Fm. WP, KA 304 76| 103 95 29

=fi. SNih 171 47 59 49 10

NI 326 | 100 114 86 21
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2 & 4029 725 | 2757 5| 349 193
100.0 | 18.0| 68.4 0.1| 8.7/ 4.8
IFNR 323 | 59| 224 i 30 9
100.0 | 18.3| 69.3| 0.3| 9.3 2.8
Jkod 312 57| 203 i 37| 14
100.0 | 18.3| 65.1 | 0.3| 11.9| 4.5
XEAR 340 | 66| 224 - B 11
100.0 | 19.4 | 65.9 -1 97| 5.0
BER 257 47| 158 - 12
100.0 | 18.3 | 61.5 -| 15.6 | 4.7
AR 340 | 65| 227 — 30 18
100.0 | 19.1 | 66.8 -| 88 53
BHX 326 | 51| 22 30 24
100.0 | 15.6 | 67.8 - 92| 7.4
IRK 341 83 229 - 14 15
100.0 | 24.3 | 67.2 4.1 4.4

EEIET., Bik™. #ETH. TAT 125 20 89 1 11 4
100.0 | 16.0| 71.2 0.8 8.8 3.2
e T, fEETh. JATNET. FIRED 82 10 60 - 8 4
100.0 | 12.2| 73.2 - 9.8 4.9
BFEH. sFA™. REH 168 23 124 - 15 6
100.0 | 13.7| 73.8 - 8.9 3.6
EBEH. =Fh. WWFET. RET 286 41 206 1 17 21
100.0 | 14.3| 72.0 0.3 5.9 7.3
=#ih. SNl 155 17 121 - 12 5
100.0 | 11.0| 78.1 - 7.7 3.2
& 329 65 239 - 15 10
100.0 | 19.8| 72.6 - 4.6 3.0
HET 322 57 220 1 28 16
100.0 | 17.7| 68.3 0.3 8.7 5.0
#aEhm., EFH 168 47 97 - 16 8
100.0 | 28.0| 57.7 - 9.5 4.8
WEETH 155 17 115 - 13 10
100.0 | 11.0| 74.2 - 8.4 6.5

445



(4) B, BMZEENEHFOMERR

EEITa Y IR

& &

B (A L

= < <

4 (A Ly

%) AN

Ly
£ K 4900 | 4029 871
100.0| 82.2| 17.8
IR 400 323 77
100.0| 80.8| 19.3
BIRX 400 312 88
100.0| 78.0| 22.0
pN::]=S 400 340 60
100.0| 85.0| 15.0
BEER 300 257 43
100.0| 85.7| 14.3
SHRX 400 340 60
100.0| 85.0| 15.0
B 400 326 74
100.0| 81.5| 18.5
IER 400 341 59
100.0| 85.3| 14.8
EEIET., Bik™. #ETH. TAT 150 125 25
100.0| 83.3| 16.7
e T, fEET. SATNET. FI4EEL 100 82 18
100.0| 82.0| 18.0
BFEH. sFA™. REH 200 168 32
100.0| 84.0| 16.0
EBEH. =Fh. WWFET. #RET 350 286 64
100.0| 81.7| 18.3
=, Jim 200 155 45
100.0| 77.5| 22.5
NI 400 329 71
100.0| 82.3| 17.8
R 400 322 78
100.0| 80.5| 19.5
#aEhm., EFH 200 168 32
100.0| 84.0| 16.0
WEETH 200 155 45
100.0 | 77.5| 22.5
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7 7 7 7 7 Z 7 7 Z 7 7 Hg
£ & 4029 47 22 47 61 4 5 1 3| 2588 635 297 276 43
100.0 1.2 0.5 1.2 1.5 0.1 0.1 0.0 0.1 64.2| 15.8 1.4 6.9 1.1
IR 323 1 - 15 2 - - - - 289 4 3 1 2
100.0 2.2 - 4.6 0.6 - - - -] 89.5 1.2 0.9 0.3 0.6
RIX 312 4 - 2 6 - - - - 279 5 13 1 2
100.0 1.3 - 0.6 1.9 - - - -] 89.4 1.6 4.2 0.3 0.6
KHEEX 340 1 2 2 1 - - - - 303 24 3 - 4
100.0 0.3 0.6 0.6 0.3 - - - - 89.1 7.1 0.9 - 1.2
BRE 257 1 1 1 1 - - 1 - 237 8 4 - 3
100.0 0.4 0.4 0.4 0.4 - - 0.4 -1 92.2 3.1 1.6 - 1.2
=HK 340 8 1 2 2 - - - 303 10 7 - 7
100.0 2.4 0.3 0.6 0.6 - - - - | 89.1 2.9 2.1 - 2.1
X 326 9 2 10 9 - - - 1 288 2 2 3
100.0 2.8 0.6 3.1 2.8 - - - 0.3 88.3 0.6 0.6 - 0.9
IR 341 5 2 8 3 - - - 31 5 2 1 4
100.0 1.5 0.6 2.3 0.9 - - - - 91.2 1.5 0.6 0.3 1.2
RIS, #ARh. T, T4 125 - 3 1 - 1 5 - - 3 - - 12 -
100.0 - 2.4 0.8 - 0.8 4.0 - - 2.4 - -| 89.6 -

REA T, FEEAT. SATRET. FIARET 82 1 8 - 2 1 - - - 9 2 1 57 1
100.0 1.2 9.8 - 2.4 1.2 - - - 11.0 2.4 1.2 | 69.5 1.2
BFM. spaH. REM 168 1 - - 15 - - - - 47 2 3 100 -
100.0 0.6 - - 8.9 - - - -1 28.0 1.2 1.8 ] 59.5 -
FRIH. E=FH. WFET. RET] 286 2 1 1 1" - - - - 78 4 181 2 6
100.0 0.7 0.3 0.3 3.8 - - - -1 21.3 1.4 63.3 0.7 2.1

=#m. Fhih 155 3 - 2 8 - - 61 3 75 2 1
100.0 1.9 - 1.3 52 - - - -] 39.4 1.9 | 48.4 1.3 0.6
JIEET 329 2 1 2 - 1 - - 1 177 143 - - 2
100.0 0.6 0.3 0.6 - 0.3 - - 0.3| 53.8| 43.5 - - 0.6
ik 322 3 1 - 1 1 - - - 110 201 2 - 3
100.0 0.9 0.3 - 0.3 0.3 - - -| 342 62.4 0.6 - 0.9
smE™. EFh 168 - - - - - - - - 70 94 - - 4
100.0 - - - - - - - -| 41.7] 56.0 - - 2.4

AR 155 - - 1 - - - - 1 23 128 1 - 1
100.0 - - 0.6 - - - - 0.6 148 826 0.6 - 0.6
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